Mixed Questions
A soccer striker scores in one game in three on average. Find the probability that he scores only once out of his next seven games.

At XYZ Distributors, the number of times the computer breaks down per week has mean 0.9.  Find the probability of exactly 8 breakdowns occurring in a 4 week period.

A tyre manufacturer finds that 85% of new tyres do not require further balancing before fitting.  If the manufacturer sells and fits 8 tyres one day, what is the probability that at least 5 of the tyres do not require balancing?

On White Island there have been volcanic eruptions in 20 of the last 50 years.  Calculate the mean number of eruptions per year.

In a quality control scheme, samples of 5 articles are selected randomly from large batches of the articles.  If 60% of the samples contain no defective articles, what is the average % of defective articles over the large batches?

*The time that people take to complete a jigsaw puzzle is normally distributed with mean 18 minutes and standard deviation 5 minutes. A large group of people are given the puzzle to do. If 40 of them complete it in under 10 minutes, estimate how many take longer than 10 minutes.   
Solutions
A soccer striker scores in one game in three on average. Find the probability that he scores only once out of his next seven games.





At XYZ Distributors, the number of times the computer breaks down per week has mean 0.9.  Find the probability of exactly 8 breakdowns occurring in a 4 week period.





A tyre manufacturer finds that 85% of new tyres do not require further balancing before fitting.  If the manufacturer sells and fits 8 tyres one day, what is the probability that at least 5 of the tyres do not require balancing?




On White Island there have been volcanic eruptions in 20 of the last 50 years.  Calculate the mean number of eruptions per year.


In a quality control scheme, samples of 5 articles are selected randomly from large batches of the articles.  If 60% of the samples contain no defective articles, what is the average % of defective articles over the large batches?





*The time that people take to complete a jigsaw puzzle is normally distributed with mean 18 minutes and standard deviation 5 minutes. A large group of people are given the puzzle to do. If 40 of them complete it in under 10 minutes, estimate how many take longer than 10 minutes.   


